

AD-A064 848

ROYAL AIRCRAFT ESTABLISHMENT FARNBOROUGH (ENGLAND)

F/G 12/1

NOTE ON A TIME DEPENDENT QUEUE M/D/1 WITH INPUT EQUAL TO SERVIC--ETC(U)
SEP 78 D E LLOYD

UNCLASSIFIED

RAE-TM-MATH-COMP-7807

DRIC-BR-65357

NL

| OF |
AD
A 064 848



END
DATE
FILMED
4-79
DDC

TECH. MEMO
MATH-COMP 7807

UNLIMITED

LEVEL II

1

TECH. MEMO

RAE-TM-MATH-COMP-7807

18 DRIC

17 ER65357

ADA064848

ROYAL AIRCRAFT ESTABLISHMENT

9 Technical memo.

6 NOTE ON A TIME DEPENDENT QUEUE M/D/1 WITH INPUT EQUAL TO SERVICE RATE.

by

10 D. E. Lloyd

11 September 1978

12 1/2 p.

DDC FILE COPY

DDC
RECEIVED
FEB 16 1979
E

79 02 14 033

310 750

UNLIMITED

DISTRIBUTION STATEMENT A
Approved for public release;
Distribution Unlimited

y/B

ROYAL AIRCRAFT ESTABLISHMENT

Technical Memorandum Math-Comp 7807

Received for printing 18 September 1978

by

D. E. Lloyd

SUMMARY

In this paper we consider the time-dependent behaviour of a single-server queue with Poisson input and constant service time, where the input rate equals the reciprocal of the service time. Formulae for the probabilities associated with different queue-lengths have been derived by an empirical method which included inspection of some numerical results. These formulae are now proved correct by induction.

Copyright

©
Controller HMSO London
1978

ACCESSION for	
NTIS	Winds Section <input checked="" type="checkbox"/>
DDC	Ref Section <input type="checkbox"/>
UNANNOUNCED	<input type="checkbox"/>
JUSTIFICATION	
BY	
DISTRIBUTION/PRODUCTION CODE	
DUE	
A	

79 02 14 033

LIST OF CONTENTS

	<u>Page</u>
1 INTRODUCTION	3
2 DERIVATION OF FORMULAE	4
3 PROOF OF CORRECTNESS	6
4 MEAN QUEUE LENGTH	9
5 SUMMARY OF RESULTS	10
Appendix Summing a finite series	13
References	15
Illustration	Figure 1
Report documentation page	inside back cover

1 INTRODUCTION

The problems studied in this paper were raised by Attwooll when preparing a lecture¹ on time-dependent queues. It is well known that a single-server queue with Poisson arrivals and constant service time (an M/D/1 queue) has a steady-state queue-length distribution if and only if the arrival rate is less than the service rate. (The service rate is the reciprocal of the service time.) If the arrival rate equals (or is greater than) the service rate the queue is 'unstable' and the average queue length increases indefinitely with time. The steady-state solution for the M/D/1 queue was published² in 1909. The time-dependent solution for the M/M/1 queue (exponential distribution of service times) was first published in 1953³.

In this paper we consider the case where the arrival rate is exactly equal to the service rate. Without loss of generality we define unit time to equal the service time (therefore equal also to the mean time between arrivals).

Let $q(n)$ be the probability that there are i customers in the queue at time n . We shall only consider integer values of n . The "number in the system" includes the customer being served, if there is one.

The number of arrivals during a unit interval has a Poisson distribution with mean 1, so the probabilities of 0, 1, 2, j arrivals are respectively $\exp(-1)$, $\exp(-1)$, $\exp(-1)/2!$, $\exp(-1)/j!$. The number of departures during a unit interval is 1 (if there is a customer in the system at the start of the interval) or 0 (if the system is empty at the start of the interval). It is easy to write down equations giving the queue-length probabilities at time $(n + 1)$ in terms of the probabilities at time n :

$$q_0(n + 1) = \{q_0(n) + q_1(n)\} \exp(-1) \quad (1)$$

$$q_1(n + 1) = \{q_0(n) + q_1(n) + q_2(n)\} \exp(-1) \quad (2)$$

$$q_2(n + 1) = \{q_0(n)/2! + q_1(n)/2! + q_2(n) + q_3(n)\} \exp(-1) \quad (3)$$

⋮

$$q_i(n + 1) = \left\{ q_0(n)/i! + q_1(n)/i! + q_2(n)/(i - 1)! + \dots + q_i(n) + q_{i+1}(n) \right\} \exp(-1). \quad \dots\dots(4)$$

We consider the case where the system starts empty, so $q_0(0) = 1$ and all the other initial probabilities equal 0. Values of the different probabilities

for $n = 1, 2, 3$, etc can then be obtained numerically by repeated solution of the above set of equations, using a computer. Attwooll did this and noticed that the probability of no customers waiting was given by the formula:

$$q_0(n) + q_1(n) = \frac{(n+1)^{n+1}}{(n+1)!} \exp(-n) . \quad (5)$$

He was unable to prove this formula. We shall proceed by assuming its correctness in order to deduce results for other queue-lengths, then verify our results by induction.

2 DERIVATION OF FORMULAE

Using (5) to substitute in equation (1):

$$q_0(n+1) = \frac{(n+1)^{n+1}}{(n+1)!} \exp(-n-1)$$

so obviously

$$q_0(n) = \frac{n^n}{n!} \exp(-n) . \quad (6)$$

This expression is undefined for $n = 0$. We assume $q_0(0) = 1$, *ie* the system starts empty.

To simplify the equations we introduce the notations

$$Q_i(n) = q_i(n) \exp(n) \quad (7)$$

and

$$[n] = n^n/n!$$

$$[0] = 1$$

so equation (6) can be put in the form

$$Q_0(n) = [n] . \quad (8)$$

From equations (1) to (4) we can derive the system of equations:

$$Q_0(n+1) = Q_0(n) + Q_1(n) \quad (9)$$

$$Q_1(n+1) = Q_0(n) + Q_1(n) + Q_2(n) \quad (10)$$

$$Q_2(n+1) = Q_0(n)/2! + Q_1(n)/2! + Q_2(n) + Q_3(n) \quad (11)$$

⋮

$$Q_j(n+1) = Q_0(n)/j! + Q_1(n)/j! + Q_2(n)/(j-1)! + \dots + Q_j(n) + Q_{(j+1)}(n). \quad \text{.....(12)}$$

Using equation (8) to substitute for both $Q_0(n)$ and $Q_0(n+1)$ in equation (9), and re-arranging terms, we find:

$$Q_1(n) = [n+1] - [n] \quad (13)$$

Using equations (8) and (13) to substitute for $Q_1(n+1)$, $Q_1(n)$ and $Q_0(n)$ in equation (10):

$$Q_2(n) = [n+2] - 2[n+1] \quad (14)$$

Proceeding, in the same way, to substitute into equation (11), we find:

$$Q_3(n) = [n+3] - 3[n+2] + \frac{3}{2}[n+1] \quad (15)$$

and it can also be shown that:

$$Q_4(n) = [n+4] - 4[n+3] + \frac{4 \cdot 2}{2!}[n+2] - \frac{4}{3!}[n+1] \quad (16)$$

$$Q_5(n) = [n+5] - 5[n+4] + \frac{5 \cdot 3}{2!}[n+3] - \frac{5 \cdot 2^2}{3!}[n+2] + \frac{5}{4!}[n+1] \quad (17)$$

$$Q_6(n) = [n+6] - 6[n+5] + \frac{6 \cdot 4 [n+4]}{2!} - \frac{6 \cdot 3^2}{3!}[n+3] + \frac{6 \cdot 2^3}{4!}[n+2] - \frac{6 [n+1]}{5!} \quad \text{..... (18)}$$

⋮

$$Q_i(n) = -i \sum_{j=0}^{i-1} \frac{(j-i)^{j-1}}{j!} [n+i-j] \quad (i > 1) . \quad (19)$$

The distribution of queue lengths can now be calculated, using equation (7) to transform equations (8), (13) and (19) back into the original variables q_i :

$$q_0(n) = \frac{n^n}{n!} \exp(-n) = [n] \exp(-n) \quad (20)$$

$$q_1(n) = \left\{ \frac{(n+1)^{n+1}}{(n+1)!} - \frac{n^n}{n!} \right\} \exp(-n) = \left([n+1] - [n] \right) \exp(-n) \quad (21)$$

$$q_i(n) = -i \exp(-n) \sum_{j=0}^{i-1} \frac{(j-i)^{j-1} [n+i-j]}{j!} \quad (i > 1) . \quad (22)$$

By assuming the correctness of Attwooll's empirical formula (equation (5)) we have generalised his result and obtained formulae (equations (20), (21), (22)) for all queue lengths.

3 PROOF OF CORRECTNESS

We shall prove these formulae by induction, *ie* we shall prove first that the formulae are correct for $n = 0$, and secondly, provided the formulae are true for all times up to and including some value n they are also correct for time $(n + 1)$.

For $n = 0$, straightforward substitution in equations (20) and (21) gives:

$$q_0(0) = 1, \quad q_1(0) = 0 . \quad (23)$$

Putting $n = 0$ in equation (22) gives:

$$q_i(0) = -i \sum_{j=0}^{i-1} \frac{(j-i)^{j-1}}{j!} \frac{(i-j)^{i-j}}{(i-j)!} \quad (i > 1)$$

hence

$$q_i(0) = \frac{1}{(i-1)!} \sum_{j=0}^{i-1} (-1)^j (i-j)^{i-1} \binom{i}{j}$$

writing k for $(i - j)$ and summing in the reverse order:

$$q_i(0) = \frac{1}{(i-1)!} \sum_{k=1}^i (-1)^{i-k} k^{i-1} \binom{i}{k}$$

$$q_i(0) = \frac{(-1)^i}{(i-1)!} \sum_{k=1}^i (-1)^k k^{i-1} \binom{i}{k} \quad (i > 1) .$$

In the Appendix it is shown that

$$\sum_{k=1}^i (-1)^k k^{i-1} \binom{i}{k} = 0$$

so that

$$q_i(0) = 0 \quad (i > 1) . \quad (24)$$

Together with equations (23) this completes the first part of the proof.

Now assuming equations (20) to (22) are correct for some value n , the probabilities at time $(n+1)$ are found by substituting for the $q_i(n)$ on the right-hand side of equations (1) to (4). Thus we find that

$$q_0(n+1) = \frac{(n+1)^{n+1}}{(n+1)!} \exp(-n-1)$$

and this is obviously of the correct form, so equation (20) holds at time $(n+1)$.

$$\begin{aligned} q_1(n+1) &= ([n] + [n+1] - [n] + [n+2] - 2[n+1]) \exp(-n-1) \\ &= ([n+2] - [n+1]) \exp(-n-1) \end{aligned}$$

and this is also of the correct form, so equation (21) holds at time $(n+1)$.

Equation (3) is just a special case of equation (4) which can be written as:

$$q_i(n+1) = \left\{ \frac{q_0(n)}{i!} + \frac{q_1(n)}{i!} + \sum_{j=2}^{i+1} \frac{q_j(n)}{(i+1-j)!} \right\} \exp(-1) . \quad (25)$$

Using equations (20) to (22) to substitute for the $q(n)$ on the right-hand side of equation (25)

$$q_i(n+1) = \exp(-n-1) \left\{ \frac{[n]}{(i)!} + \frac{[n+1] - [n]}{(i)!} - \sum_{j=2}^{i+1} \sum_{k=0}^{j-1} j \frac{(k-j)^{k-1}}{k!} [n+j-k] \right\}$$

$$q_i(n+1) = \exp(-n-1) \left\{ \sum_{j=1}^{i+1} \sum_{k=0}^{j-1} j \frac{(k-j)^{k-1}}{k!} [n+j-k] \right\} \quad (26)$$

Now let $m = i + 1 - j + k$ so that $j = i + k + 1 - m$. To transform the summation it is helpful to draw up a table, showing which combinations of j and k are to be summed over, and the value of m for each summable combination see Fig 1. Substituting for j , and summing over m and k instead of over j and k :

$$q_i(n+1) = \exp(-n-1) \left\{ \sum_{m=0}^i \sum_{k=0}^m \frac{(i+k+1-m)(m-i-1)^{k-1}}{k!} [n+1+i-m] \right\}$$

$$q_i(n+1) = \exp(-n-1) \left\{ \sum_{m=0}^i \left\{ [n+1+i-m] \sum_{k=0}^m \frac{(i+k+1-m)(m-i-1)^{k-1}}{k!} \right\} \right\} \quad \dots\dots(27)$$

but

$$\sum_{k=0}^m \frac{(i+k+1-m)(m-i-1)^{k-1}}{k!} = \sum_{k=0}^m (-1)^{k-1} \frac{(i+1-m+k)(i+1-m)^{k-1}}{k!}$$

$$= \sum_{k=0}^m (-1)^{k-1} \left\{ \frac{(i+1-m)^k}{k!} + \frac{(i+1-m)^{k-1} (k \neq 0)}{(k-1)!} \right\}$$

$$= (-1)^{m-1} \frac{(i+1-m)^m}{m!} \quad (28)$$

substituting this last expression for the inner sum in equation (27) we obtain:

$$q_i(n+1) = -\exp(-n-1) \sum_{m=0}^i (-1)^m \frac{(m-i-1)^{m-1} [n+1+i-m]}{m!} . \quad (29)$$

By comparing equations (29) and (22), it can be seen that the formula is correct for time $(n+1)$. This completes the second part of the proof.

We have now shown that, provided equations (20), (21) and (22) are correct up to time n , they are also true for time $(n+1)$. But we showed earlier that the equations are correct for time 0, therefore they are also correct for time 1, therefore they are also correct at time 2, and so on. Thus equations (2) to (22) are true for all integer values of the time n .

We have thus proved the correctness of equations (20) to (22). Attwooll's empirical result, equation (5), can easily be proved by adding equation (20) to equation (21).

4 MEAN QUEUE LENGTH

The mean queue length may be defined as

$$\bar{q}(n) = \sum_{i=2}^{\infty} (i-1)q_i(n) \quad (30)$$

(the customer being served is not included). By multiplying each of equations (1) to (4) by an appropriate factor, and summing over i , Attwooll obtained the result

$$\bar{q}(n+1) = \bar{q}(n) + \{q_0(n) + q_1(n)\}e^{-1} . \quad (31)$$

Using equation (5), which we have proved in section 3

$$\bar{q}(n+1) - \bar{q}(n) = \frac{(n+1)^{n+1}}{(n+1)!} \exp(-n-1) \quad (32)$$

hence

$$\bar{q}(n) = \sum_{m=1}^n \frac{m^m}{m!} \exp(-m) . \quad (33)$$

For large values of m , the value of $m!$ is given approximately by Stirling's formula

$$m! = (2\pi m)^{0.5} m^m \exp(-m) .$$

Thus for large values of n

$$\bar{q}(n) - \bar{q}(n-1) \doteq (2\pi n)^{-0.5} . \quad (34)$$

Hence it may be shown that

$$\bar{q}(n) \doteq \sqrt{\frac{2n+1}{\pi}} . \quad (35)$$

Comparing approximate numerical values obtained from equation (35) with the corresponding exact values obtained from equation (33), it was found that a very good approximation is given by the equation

$$\bar{q}(n) \doteq \sqrt{\frac{2n+1.2}{\pi}} - 0.66 ; \quad (36)$$

5 SUMMARY OF RESULTS

The following results (except for the last equation (A-2)) relate to the queue system M/D/1 with arrival rate equal to service rate.

The probability of i customers in the system (including the customer being served) at time n is given by the formulae

$$q_0(n) = [n] \exp(-n) \quad (20)$$

$$q_1(n) = ([n+1] - [n]) \exp(-n) \quad (21)$$

$$q_i(n) = -i \exp(-n) \sum_{j=0}^{i-1} \frac{(j-i)^{j-1} [n+i-j]}{j!} \quad (22)$$

where $[r] = r^r/r!$

and $[0] = 1$.

The expected queue-length (excluding the customer being served) at time n is given by the formula

$$\bar{q}(n) = \sum_{m=1}^n [m] \exp(-m) \quad (33)$$

and by the approximate formula

$$\bar{q}(n) \doteq \sqrt{\frac{2n + 1.2}{\pi}} - 0.66 \quad (36)$$

Also we have proved the interesting combinatorial identity

$$\sum_{k=1}^n (-1)^k k^r \binom{n}{k} = 0 \quad 0 \leq r < n. \quad (A-2)$$

Appendix

SUMMING A FINITE SERIES

In this Appendix we find the sum of the series:

$$S(n, r) = \sum_{k=1}^n (-1)^k k^r \binom{n}{k} . \quad (A-1)$$

From (A-1) it follows that

$$\begin{aligned} \sum_{r=0}^{\infty} \frac{S(n, r) z^r}{r!} &= \sum_{r=0}^{\infty} \left[\sum_{k=1}^n (-1)^k \frac{k^r z^r}{r!} \binom{n}{k} \right] \\ &= \sum_{k=1}^n \left[(-1)^k \binom{n}{k} \sum_{r=0}^{\infty} \frac{k^r z^r}{r!} \right] \\ &= \sum_{k=1}^n (-1)^k \binom{n}{k} \exp(kz) \\ &= [1 - \exp(z)]^n \\ &= \left(-z - \frac{z^2}{2!} - \frac{z^3}{3!} - \dots \right)^n \\ \sum_{r=0}^{\infty} \frac{S(n, r) z^r}{r!} &= (-z)^n \left(1 + \frac{z}{2!} + \frac{z^2}{3!} + \dots \right)^n . \end{aligned}$$

By equating coefficients of z^r it can be seen that

$$S(n, r) = 0 \quad 0 \leq r < n$$

ie

$$\sum_{k=1}^n (-1)^k k^r \binom{n}{k} = 0 . \quad 0 \leq r < n . \quad (A-2)$$

The special case $S(n, 1) = 0$ is included in Ref 4, on page 4 as formula 0.154.2.

The special case $S(n, n - 1) = 0$

ie

$$\sum_{k=1}^n (-1)^k k^{n-1} \binom{n}{k} = 0 \quad (\text{A-3})$$

is used in section 3 of this Memorandum.

It can also be easily shown that

$$\sum_{k=1}^n (-1)^k k^n \binom{n}{k} = (-1)^n n! \quad (\text{A-4})$$

and that

$$\sum_{k=1}^n (-1)^k k^{n+1} \binom{n}{k} = (-1)^n (n+1)! n/2 \quad (\text{A-5})$$

REFERENCES

- | <u>No.</u> | <u>Author</u> | <u>Title, etc</u> |
|------------|---|---|
| 1 | V.W. Attwooll | Some mathematical aspects of air traffic systems.
The Journal of Navigation, Vol 30, No.3, pp 394-414,
September 1977 |
| 2 | E. Brockmeyer
H.L. Halstrom
A. Jensen | The life and works of A.K. Erlang.
TRans. Danish Acad. Tech. Sci., Vol 2 (1948) |
| 3 | J.W. Cohen | The single server queue.
North Holland Publishing Co (1969) |
| 4 | I.M. Ryshik
I.S. Gradstein | Tables of series, products and integrals.
VEB Deutcher Verlag der Wissenschaften (1963) |

Fig 1

	$j = 1$	$j = 2$	$j = 3$	$j = i + 1$
$k = i$					$m = i$
$k = i - 1$					$m = i - 1$
$k = i - 2$					$m = i - 2$
.					.
.					.
.					.
$k = 2$			$m = i$	$m = 2$
$k = 1$		$m = i$	$m = i - 1$	$m = 1$
$k = 0$	$m = i$	$m = i - 1$	$m = i - 2$	$m = 0$

M-C 7807

Fig 1 Values of m for combinations of j and k that are summed over (see equation 26)

REPORT DOCUMENTATION PAGE

Overall security classification of this page

UNLIMITED

As far as possible this page should contain only unclassified information. If it is necessary to enter classified information, the box above must be marked to indicate the classification, e.g. Restricted, Confidential or Secret.

1. DRIC Reference (to be added by DRIC)	2. Originator's Reference RAE TM Math-Comp 7807 ✓	3. Agency Reference N/A	4. Report Security Classification/Marking UNLIMITED
5. DRIC Code for Originator 850100	6. Originator (Corporate Author) Name and Location Royal Aircraft Establishment, Farnborough, Hants, UK		
5a. Sponsoring Agency's Code N/A	6a. Sponsoring Agency (Contract Authority) Name and Location N/A		
7. Title Note on a time dependent queue M/D/1 with input equal to service rate.			
7a. (For Translations) Title in Foreign Language			
7b. (For Conference Papers) Title, Place and Date of Conference			
8. Author 1. Surname, Initials Lloyd, D.E.	9a. Author 2	9b. Authors 3, 4	10. Date Pages Refs. September 15 4 1978
11. Contract Number N/A	12. Period N/A	13. Project	14. Other Reference Nos.
15. Distribution statement (a) Controlled by – (b) Special limitations (if any) –			
16. Descriptors (Keywords) (Descriptors marked * are selected from TEST) Queueing theory*. Time-dependence*. M/D/1.			
17. Abstract In this paper we consider the time-dependent behaviour of a single-server queue with Poisson input and constant service time, where the input rate equals the reciprocal of the service time. Formulae for the probabilities associated with different queue-lengths have been derived by an empirical method which included inspection of some numerical results. These formulae are now proved correct by induction.			

FS910/1